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| caicul [

;" Pose et calcule. 1
12,48 + 5,63 = 34,51 + 22,09 = 512+15,77= |
P + | ;
Galcul
{ Pose et calcule. k
i 18,68+47= 4,9 +19,68 = 11,3 +27,76= |
P + | ;
Galcul
i Pose et calcule. :
15,23 + 5,34 + 1,7 = 10,6 + 17,28+ 8,15 = 12,66 + 8,08 + 9,02 =
E + + :
i + + i

i calcu I

;" Pose et calcule. ;
17,22 + 14,85 = 9,81 +3,6 = 1048 +1423= |
P4 | + ) :
Galcul
;" Pose et calcule. ;
; 19 +17,81 = 16,17 + 5,97 = 512+13,6= |
P4 | + ) :
Galcul
i Pose et calcule. :
i 14,81+6,35+15,72= 19,23 + 7,2 + 10,05 = 0,57 +7,42+8,19=
E + + * :
Lo+ + + i

Téléchargé gratuitement sur http://fee-des-ecoles.fr



